Check Figures

for use with

Financial and Managerial Accounting: The Basis for Business Decisions, 12/e

Chapter 2

Problem 2-1
Total assets = $1,010,300; Total liabilities = $720,300

Problem 2-2
No check figures given.

Problem 2-3
Ending cash balance = $31,250

Problem 2-4
Ending cash balance = $42,600

Problem 2-5
Total assets = $553,080; Total liabilities = $215,850

Problem 2-6
Total assets = $961,470; Total liabilities = $622,050

Problem 2-7
Total assets (8/3) = $236,700; Total liabilities (8/3) = $91,000

Problem 2-8
Total assets (10/6) = $173,590; Total liabilities (10/6) = $88,000

Problem 2-9
Total assets = $51,500; Total liabilities = $23,100

Problem 2-10
Total assets = $114,735; Total liabilities = $106,200

